

### **Missouri Department of Transportation Contractor's Pay Estimate Summary**

Pay Estimate Created Date: July 23, 2025

Final Estimate Number 11	Contract II Prime Con		0-H03 Bridge & Grading, Ir		Period Start Period End	July 1, 2 July 15,		Original Contract Amount Net Change Order Amount Current Contract Amount	\$841,424.25 (\$8,839.00) \$832,585.25	
Approval Date									By User	
September 23, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by									
September 23, 2025									stutsb1	
October 3, 2025			Re	viewed and	d Approved at t	he Centra	l Offic	e Controllers Office Level by	ramses1	
Original Completi	Original Completion Date Current			ompletion Date Actual			Completion Date % of Current Contract Am			
November 1, 2	025	Novemb	per 1, 2025	pril 24, 2025 100.00%			100.00%			
	C	ontract Informa	tional Dates					Milestones		
Date Description	Original (	Completion Date	Current Comple	etion Date		No Mile	stones	Exist for Contract		
Acceptance Date	August 14, 2025		August 14, 2025							
Awarded Date	October 2, 2024		October 2, 2024							
Letting Date	September 20, 2024		September 20, 2024							
Notice to Proceed Date	November 4, 2024		November 4, 202							
Work Began Date	January 2	7, 2025	January 27, 2025							

Contract Total Pay For Estimate No. 11									
		This Estimate	Previous	To Date					
240920-H03									
	Total Posted Items Pay	\$0.00	\$832,585.25	\$832,585.25					
	Gross Item Adjustments	\$0.00	\$242.46	\$242.46					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
			\$832,827.71	\$832,827.71					
<b>Contract Total Pa</b>	yable This Estimate:	\$0.00							

### Items Paid This Estimate Period

No Items Paid This Period

### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Page 1 of 9 Revision 9/2/2025



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Inform	nation				
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J9S3606	FAS S703(98)	Bridge replacement	В	BUTLER	over Drainage Ditch 1						
Totals by Job Numbers											
J9S3606					This Estimate	Previous	To Date				
	Posted Item Pay Gross Item Adjustments				\$0.00 \$0.00						
			Gross	Item Pay	\$0.00	\$832,827.71	\$832,827.71				
	Incent	tive			\$0.00	\$0.00	\$0.00				
	Disino	entive			\$0.00	\$0.00	\$0.00				
		lated Damages			\$0.00	\$0.00	\$0.00				
	Other	Contract Adju	stments		\$0.00	\$0.00	\$0.00				

Revision 5/29/2025 Page 2 of 9





# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 5/29/2025 Page 3 of 9



### **Missouri Department of Transportation** Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Project Category Line Item Description

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240920- H03	J9S3606	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000.00
1103		0001	0020	2064000	POROUS BACKFILL	62.00	0.00	62.00	CUYD	62.00	\$85.00	\$5,270.00
		0001	0030	2079909	MISC.MODIFIED LINEAR GRADING CLASS 2	1.80	0.00	1.80	STA	1.80	\$1,750.00	\$3,150.00
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	485.00	-391.00	94.00	SQYD	94.00	\$17.00	\$1,598.00
		0001	0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)	12.00	0.00	12.00	TONS	12.00	\$35.00	\$420.00
		0001	0060	4019905	MISC.Optional Pavement	485.00	0.00	485.00	SQYD	485.00	\$67.25	\$32,616.25
		0001	0070	6113020	FURNISHING TYPE 2 ROCK BLANKET	490.00	20.00	510.00	CUYD	510.00	\$43.00	\$21,930.00
		0001	0800	6113040	PLACING TYPE 2 ROCK BLANKET	490.00	20.00	510.00	CUYD	510.00	\$23.00	\$11,730.00
		0001	0090	6161005	CONSTRUCTION SIGNS	284.00	0.00	284.00	SQFT	284.00	\$8.00	\$2,272.00
		0001	0100	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$45.00	\$180.00
		0001	0110	6161030	TYPE 3 MOVEABLE BARRICADE	12.00	0.00	12.00	EA	12.00	\$150.00	\$1,800.00
		0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.00
		0001	0130	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$60,000.00	\$0.00
		0001	0131	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$52,110.00	\$52,110.00
		0001	0140	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	560.00	350.00	910.00	LF	910.00	\$2.00	\$1,820.00
	0001 0150 6206001C 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS						50.00	120.00	LF	120.00	\$2.00	\$240.00
		0001	0160	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	876.00	35.00	911.00	SQYD	911.00	\$3.00	\$2,733.00
		0001	0170	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000.00
		0001	0180	8025006	MULCHING	1.00	0.00	1.00	ACRE	1.00	\$1,250.00	\$1,250.00
		0001	0190	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	1.00	\$3,500.00	\$3,500.00
		0001	0200	8061016	SEDIMENT REMOVAL	4.00	-4.00	0.00	CUYD	0.00	\$10.00	\$0.00
		0001	0210	8061019	SILT FENCE	262.00	-262.00	0.00	LF	0.00	\$4.50	\$0.00
		0001	0220	8061050	TYPE C BERM	291.00	-291.00	0.00	LF	0.00	\$10.00	\$0.00
		0001	0230	8064138	TYPE 2D EROSION CONTROL BLANKET	89.00	0.00	89.00	SQYD	89.00	\$5.00	\$445.00
		0010	0240	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	1.00	0.00	1.00	EA	1.00	\$4,200.00	\$4,200.00
		0010	0250	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	1.00	0.00	1.00	EA	1.00	\$3,800.00	\$3,800.00
		0010	0260	6063020	TYPE C CRASHWORTHY END TERMINAL (MASH)	3.00	0.00	3.00	EA	3.00	\$28,000.00	\$84,000.00
		0070	0270	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	4.00	0.00	4.00	SQFT	4.00	\$1,250.00	\$5,000.00
		0070	0280	2061000	CLASS 1 EXCAVATION	148.00	-16.00	132.00	CUYD	132.00	\$18.00	\$2,376.00
		0070	0290	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$40,000.00	\$40,000.00
		0070	0300	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	133.00	0.00	133.00	SQYD	133.00	\$170.00	\$22,610.00
		0070	0310	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	720.00	0.00	720.00	LF	720.00	\$145.00	\$104,400.00
		0070	0320	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	2.00	\$5,000.00	\$10,000.00
		0070	0330	7027000	PILE POINT REINFORCEMENT	12.00	0.00	12.00	EA	12.00	\$600.00	\$7,200.00
		0070	0340	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	25.80	0.00	25.80	CUYD	25.80	\$1,500.00	\$38,700.00
		0070	0350	7034219A	TYPE D BARRIER	192.00	0.00	192.00	LF	192.00	\$150.00	\$28,800.00
		0070	0360	7034221	SLAB ON CONCRETE NU-GIRDER	288.00	0.00	288.00	SQYD	288.00	\$550.00	\$158,400.00
		0070	0370	7056021	NU 35, PRESTRESSED CONCRETE NU-GIRDER	331.00	0.00	331.00	LF	331.00	\$395.00	\$130,745.00
		0070	0380	7123610	SLAB DRAIN	16.00	0.00	16.00	EA	16.00	\$700.00	\$11,200.00
		0070	0390	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0070	0400	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$400.00	\$3,200.00
		0001	5001	6189901	MISC.Contract Bond Payment supported by Invoice #36677 for Bond Policy #2297271 submitted by the contractor	0.00	1.00	1.00	LS	1.00	\$7,890.00	\$7,890.00
	Project J	9S3606 - To	otal Value	Posted to D	ate as of Report Generated Date							\$832,585.25
240920-H	03 Overal	I - Total Va	lue Poste	ed to Date as	of Report Generated Date							\$832,585.25

Revision 5/29/2025 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 5 of 9



### Line Item Adjustments by Estimate

Contract ID: 240920-H03

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
606	0060	MISC.	Other Item Adjustment	ACAD	7	Apr 16, 2025	ingral1	\$171.79	This adjustment is made to account for the AC index during this estimate period regarding this item. See eProjects for AC index spreadsheet.		
				ACAD - Tota	al			\$171.79			
			Other Item A	djustment - T	otal			\$171.79			
	0060 -	Total						\$171.79			
	0140	4 IN. WHITE WATERBORNE	Other Item Adjustment	REFL	8	May 1, 2025	ingral1	(\$224.00)	20% withheld pending retroreflectivity		
		PAVEMENT MARKING			9	Jun 2, 2025	ingral1	\$224.00	Returns amount withheld on estimate 8 for pending retroreflectivity		
				REFL - Tota	ıl			\$0.00			
			Other Item Adjustment - Total					\$0.00			
	0140 -	Total						\$0.00			
		4 IN. YELLOW WATERBORNE	Other Item Adjustment	REFL	8	May 1, 2025	ingral1	(\$28.00)	20% withheld pending retroreflectivity		
		PAVEMENT MARKING	•		9	Jun 2, 2025	ingral1	\$28.00	Returns amount withheld on estimate 8 for pending retroreflectivity		
				REFL - Total			\$0.00				
			Other Item A					\$0.00			
	0150 -	Total			otu.			\$0.00			
			Makadal		7	A == 40	OVOTENA				
	0180	MULCHING	Material		7	Apr 16, 2025	SYSTEM	(\$125.00)	This adjustment effects the ariginal pustors approved Material Decrease		
					/	Apr 16, 2025	SYSTEM	\$125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 2 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To	tal				\$0.00			
	0180 -	Total						\$0.00			
	0190	SEEDING - COOL SEASON GRASSES	Material		7	Apr 16, 2025	SYSTEM	(\$350.00)			
					7	Apr 16, 2025	SYSTEM	\$350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ingral1 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To								
			Other Item Adjustment	OTHR	7	Apr 16, 2025	ingral1	\$0.00 (\$70.00)	20% withheld for seed growth		
					8	May 1, 2025	ingral1	(\$700.00)	20% withheld for seed growth		
					8	May 1, 2025	ingral1	\$70.00	Returns seeding adjustment from estimate 7 for correction		
					10	Jul 1, 2025	ingral1	\$700.00	Returns 20% withheld for seed growth for estimate 8		
				OTHR - Tota	al			\$0.00			
			Other Item A	djustment - T	otal			\$0.00			
	0190 -	Total						\$0.00			
	0260	TYPE C CRASHWORTHY	Construction Stockpile		8	May 1, 2025	SYSTEM	(\$54,318.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
		END TERMINAL (MASH)		- Total				(\$54,318.00)			
		•	Construction	Stockpile - 1	Γotal			(\$54,318.00)			
			Construction Stockpile				SYSTEM	\$54,318.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
			STMA	- Total				\$54,318.00			
			Construction		TMA - Tota	al		\$54,318.00			
	0260 -	Total	1 1000 4000	TO SHIPTIO O				\$0.00			
		BRIDGE APPROACH SLAB	Other Item Adjustment	ACAD	7	Apr 16, 2025	ingral1	\$70.67	This adjustment is made to account for the AC index during this estimate period regarding this item. See eProjects for AC index spreadsheet.		
		(MINOR ROAD)	,	ACAD - Total				\$70.67			
			Other Item A					\$70.67			
			Other Renr A	ajustinent - 1	Otal			\$70.67			



### Line Item Adjustments by Estimate

Contract ID: 240920-H03

	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
06	0300 -	- Total						\$70.67	
	0310	GALVANIZED CIP CONCR PILES (14 IN)	Construction Stockpile		4	Mar 3, 2025	SYSTEM	(\$46,434.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		IIV)		- Total				(\$46,434.00)	
			Construction	Stockpile - 1	Total			(\$46,434.00)	
			Construction Stockpile STMI		3	Feb 18, 2025	SYSTEM	\$46,434.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$46,434.00	
			Construction	Stockpile S	TMI - Total			\$46,434.00	
			Material		4	Mar 3, 2025	SYSTEM	(\$104,400.00)	
					4	Mar 3, 2025	SYSTEM	\$104,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0310 -	- Total						\$0.00	
	0330	PILE POINT REINFORCEMENT	Construction Stockpile		4	Mar 3, 2025	SYSTEM	(\$2,100.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,100.00)	
			Construction	Stockpile - 1	Total			(\$2,100.00)	
			Construction Stockpile STMI		3	Feb 18, 2025	SYSTEM	\$2,100.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$2,100.00	
			Construction	Stockpile S	TMI - Total			\$2,100.00	
	0330 -	Total						\$0.00	
	0340	CLASS B CONCRETE (SUBSTRUCTURE)	Material		4	Mar 3, 2025	SYSTEM	(\$38,700.00)	
					4	Mar 3,	SYSTEM	\$38,700.00	This adjustment offsets the original system-generated Material Payment
						2025			Estimate Item Adjustment (0004) due to user ingral1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total		2025		\$0.00	
			Material - Tot			2025		\$0.00 \$0.00	
	0340 -	- Total	Material - Tot			2025			
		SLAB ON CONCRETE NU-	Material - Tot		5	Mar 17, 2025	SYSTEM	\$0.00	
		SLAB ON			5	Mar 17,	SYSTEM SYSTEM	\$0.00 \$0.00	
		SLAB ON CONCRETE NU-				Mar 17, 2025 Mar 17,		\$0.00 \$0.00 (\$95,150.00)	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment
		SLAB ON CONCRETE NU-			5	Mar 17, 2025 Mar 17, 2025 Apr 2,	SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment
		SLAB ON CONCRETE NU-			5	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2,	SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00)	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment
		SLAB ON CONCRETE NU-			5 6 6	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment
		SLAB ON CONCRETE NU-			5 6 6 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment
		SLAB ON CONCRETE NU-		- Total	5 6 6 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00 (\$158,400.00)	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment
	0360	SLAB ON CONCRETE NU-	Material	- Total	5 6 6 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00 (\$158,400.00) \$158,400.00	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment
	0360 -	SLAB ON CONCRETE NU- GIRDER	Material	- Total	5 6 6 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00 \$158,400.00 \$0.00	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment
	0360 -	SLAB ON CONCRETE NU- GIRDER  Total  VERTICAL DRAIN	Material - Tot	- Total	5 6 6 7 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00 \$158,400.00 \$0.00 \$0.00 \$0.00	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	0360 -	SLAB ON CONCRETE NU- GIRDER  Total  VERTICAL DRAIN	Material - Tot	- Total	5 6 6 7 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 Apr 2, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00 (\$158,400.00) \$0.00 \$0.00 \$0.00 \$4,000.00)	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.
	0360 -	SLAB ON CONCRETE NU- GIRDER  Total  VERTICAL DRAIN	Material - Tot	- Total	5 6 6 7 7	Mar 17, 2025 Mar 17, 2025 Apr 2, 2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 Apr 2, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$95,150.00) \$95,150.00 (\$158,400.00) \$158,400.00 (\$158,400.00) \$158,400.00 \$0.00 \$0.00 (\$4,000.00)	Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.

Oct 4, 2025



## Line Item Adjustments by Estimate

Contract ID: 240920-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3606 - Total									
Overall - Total									

## MoDOT

### Contract Adjustments for Contract - 240920-H03

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 9 of 9